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GENERAL INSTRUCTION TO THE EXAMINEES:
1. Teeff |duem e T UF R AMiG Jffarid: ford |
Candidate must write first his/her Roll No- on the question paper compulsorily.
2. 9T U9 A rfart 2|
All the questions are compulsory.
3. U U BT IR o Mg IR JRADT H &l o |
Write the answer to each question in the given answer book only.
4. O w1 H A<IR® WUs &, I Il & SR TP T & o |
For questions having more than one part, the answers to those parts are to be written together in continuity.
5. U3 B IR o 9 Yd U= BT HAiD Aavyg ford |

Write down the serial number of the question before attempting it.

6. U3 UF & Rl g 3G WU ¥l JbR 1 Ffe /R / faREmE 89 R f{=T w1
@ U DI B ol A |

If there is any error/difference/Contradiction in Hindi & English versions of the question paper, the question of
Hindi version should be treated valid.

7. U39 HYh 14 ¥ 20 ¥ ARG fdhed 2|

There are internal choices in Question No. 14 to 20.
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SECTION- A

1. 9gfdhcuTcid T

(= xvin): 71 oAl & ITR BT &1 [Adhed T99 R IR gRADT H {1y |

Multiple Choice Questions

Choose the correct option to the following questions answer from multiple choice question- (i to xviii) and write it
in given answers book.

() 1834 ¥ fHA IR BT UGS W SRS Yob Fe YT fobar T ? 1
(3r) amfgar (&) sr=m

() fae= (@) =4

On the initiative of which state in 1834 was the Zollverein custom union established ?

(A) Austria (B) Prussia

(C) Britain (D) Russia

() ST9 9 A I | BTl 93T §= - B/Y A TS il © 7 1
() =Ramom (@) HBRTS

(|) XToTeI= (]) @S

In which of the following states black soil.is Predominantly found ?

(A) Hariyana (B) maharashtra
(C) Rajasthan (D)Jharkhand

(1) IIRCIT ag Sig AREoT ffefgH od oy fohar ar ? 1
(&1) 1970 (@) 1971

(@) 1972 () 1973

When was the Indian wildlife protection Act. Implemented?

(A) 1970 (B) 1971

(C) 1972 (D) 1973

(V) T § ¥ DIET SERT AT YR Dl ded ATl & wd H UgTh DR &7 1
(31) BT (@) Hdrie

() (]) ATl



Which of the following industries uses limestone as raw material ?
(A) Paper (B) Cement

(C) Steel (D) Motor vehicle

(v) =1 | 9 DI |1 uRRae e qRd W IS e 87

(&) wrgTeTTE @) <ot uRaes

(w) g aRaeT (3) WP uRas

Which one of the following is the most important modes of transportation in India ?

(A) Pipeline (B) Railways

(C) Airways (D) Roadways

(vi) =1 # 9 5 qwr ¥ faeg H§ W99 UBel IO B APl (b ad gs ol ?
SURCIEI @) sivs
(@) = () 9

In which of the following countries in the world was the earliest kind of print technology developed?

(A) Japan (B) England

(C) China (D).India

(VIl) STRFATe §IRT 9911 T 919 & Soid &l ScTad [ gRT fhar Tar ?

(61) =gt (@) et gom
(w) #ey geed (=) faer o
Who produced the steam engine designed by James Watt ?
(A) Newcomen (B) Michael wolf

(C) Matthew Boulton (D) Will Thorne

(Vi) 9o favag (1914) H M3 I & W H DIFET I AMHA Tl o ?
(@) faes (@) Wi

SRS (=) wa

Which nation was not included in the Allied Camp in the First World War (1914) ?
(A) Britain (B) France

(C) Germany (D) Russia

(IX) "MHR SHe’ ATHG HBAT fhas fordy ?

(37) g < (q) Darer qRET <4



(%) vraTS () armaTg fRre
Who wrote autobiography titled 'Aamar Jeeban'
(A) Rashsundari (B) Kailash Bashini Devi

(C) Ramabai (D) Tarabai shinde

(X) STABT ad g Bhg g7 2

(a1) 1944 (d) 1946

(|) 1948 () 1950

When did Sri Lanka become an independent nation ?
(A)1944 (B) 1946

(C) 1948 (D) 1950

(xi) Frifra & 1 Ao g2 &1 v =8 —
(81) ¥irar e (@) face werer
(@) dfdT () fRre

Which of the following is not a subject of the union List -
(A) National Security (B) foreign affairs

(C) Banking (D) education

X RT § 71 & 3 Afgement @ fofu IRefor &) JaRer g —

(3) <iep (@) TST ||

(|) faem= g« () UEARIIRTST DT HLATY
In India reservation for women in which of the folioing -

(A) Lok Sabha (B) Rajya Sabha

(C) Legislative Assembly (D) Institution of panchayati Raj

(XIIl) TRATT AThas H el vl & —

(31) TP Tl (@) 3T g

(\) sgacia (%) 379 & BIs &I

Party system in Indian democracy is -
(A) One party (B) Two party

(C) Multi party (D) None of these



xiv) Fr=ifed & 9 fha oma= gommell d SRR ORGR &l e+ 8IdT &—

(31) oArepa= (@) roTaA

() dTRITR (@) a |

In which of the following system of government, responsible government is formed-
(A) Democracy (B) Monarchy

(C) Dictatorship (D) All of these

(xv) fa%d ¥ & AR A= <9 d [P & AER W oI w1 & oy fb|
ATICUS BT YN fhar Sirem 28—

(31) N 3 (@) ufa <afh 3

(%) = 3 (=) forot ama

According to the word Bank, which criteria is used to compare different countries on the

Basis of development

(A) National income (B) per capita income

(C) Household income (D) Personal Income

xv1) FFr=ifhd & & Bl Ale SR &Ral & —

(@) R T §b (@) d& 3 sfo<ar
(@) R Rea I () sfvsad d&
Which of the following issues currency notes -

(A) State Bank of India (B) Bank of India

(C) Reserve Bank of India (D). Indian Bank

(xvi) Fr=1 3 | STRHT @1 SIfieR el © —

(o1) T O T e (&) =TT B SATDR
() GRetm &1 AfeDR (]) T H HHI BT JMTBR
Which of the following is not a consumer right -

(A) Right to be informed (B) Right to choose

(C) Right to safety (D) Right to reduction in price

(XVIIl) IR IR Bl ISR 917 dTeil AvqT & —
(31) fdzq =MUR WS @) faeg &
() |g<h I HY (T) RIS HaT By

The organization that liberalizes international trade is -

(A) World trade Organization  (B) World Bank

(C) United Nation Organization (D) International Monetary Fund



2. Reh I &1 gfd BIRTT — (19 vi)

Fill In the blanks : -

...................... is the main food crop of India-
(iii) T QW & 7T TIIN B FATAR BT oo FEd 2|
Trade in goods between two countries is called .................. .

(iv) ol T We—qier aref ... BT T AT HRAT ol 8 |

Democracy does not simply mean ruling by the opinion of .................... g

(v) U O] BT UTHidd FHEAN H IR ... &P B A T |

Production of a commodity from natural resourcesis a ...........ceeeeeennneen. Sector activity .

0 YR 3[ARIED Bl TUh ISTEN 2 |

...................... is an example of trade barrier .
3. SANTAGIRTAD T - (1 4 XiI)
(Fr=1 == & SR TP = AT US dfth H Qo)

Very Short Answer type Questions :

(Answer the following question in one word or one line)

(i) STHTHT H 1890 & TH H BT fTART Aol A Bell 2

Which disease spread rapidly in Africa in the 1890 ?

(ii) "JSOT $%R DI <1 §g HSWIH o ©, Fad gl Alswl |" IuYch AT fhaadl 2 ?
" Printing is the ultimate in something from god, the greatest gift." who said the above ?

(jii) OTF T JINTeCH fEdl 51 1780 H hd AR Uh1 &1 AHET g fbar ?
Which Weekly Magazine did James Augstus Hickey start editing in 1780 ?

(iv) g a9 I U g I § Rerd g 2

Sunderbans Natinal park is located in which State ?

(v) RS T YA Al a8 TN Hal Il 737 ?

Where was the first cotton textile industry set up in india ?
(vi) TR Nerd &I fvaw @vel # dfer 1 g 2
Indian Railway is divided into how many Zones ?

(vii) TR Y HT AT Fal 27

Where is the headquarters of European union ?

(vii) "&F BT BT AT TSI I 31T A8t fhaT S Fhdl Ig foaT der o1 ?

Who said that "religion can never be separated from politics" ?




(ix) AP DT TP faRIvar faReg |

Write one feature of democracy .

(x) ART STHT T &7

What is demand deposit ?

(xi) TGRS B fhst e 2°

What is called a multination company?

xii) SUTRDT TRET0T A9 we gtRd fhar Tar?

Consumer protection Act. Was passed?

yvg — ¢
SECTION-B

THTRIAD T — (IR AT ST 50 9Meq)

Short answer type questions - (Answer limit about 50 words)

(4) fa=r |fY (1815) & <1 uRom dargy | 1 +1
Mention any two results of Treaty of Vienna (181 5) .

(5)XTM ART & R H A AT S 872

What do you know about the silk Road ?

(6) PT-T BN b Tl GAH WH B UR $7hT AT Siiad il IR |7 J91d IIT 2

Imagine, if the oil supply gets exhausted one day, how would this affect our life style ?

(7) IR BT T QT B BT A1 Id10 AR S8l Ig &l & Sl & S &3 Bl

faavor | Vatr1Vs =
Name of one staple crop of India and the regions where it is produced.
(8) TAT BT ATHERT T STox] © 2.l PRl oIy | 1 4+ 1=

Write two reasons, why power sharing is necessary ?
(9) =2l T WIae=i &1 fSTsh BN SIl MRd BT g9 FRUeT <2 9914 & | 1+ 1=
Mention any two constitutional provisions that make India a secular state .

(10) TR TTHIOT SHIR. RS FfAFIH, 2005 BT ORI ISV |

Explain the strategy of National rural employment guarantee Act. 2005.

(11) GelT SRISFTRT 3R J28~ SRIGHRT H 3R DI | 1+ 1=

Difference between open unemployment and disguised unemployment.

(12) ITSDHROT F Y FIT AHT 2?

What do you understand by globalization ?

(13) TATEROT H FRTGC & BB VA IQTERVN &I Gl §91G, ST MU U AU
< gl |

Make a list of some examples of environmental degression that you have Seen around you.

N
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SECTION-C

o

SRR g3 — (STR AT o THT 100 31eE)

Long answer type questions - (Answer limit about 100 words)

14. 33 30SAT HFAT =1 ARG Al I ST BT DY daiq (a1 ? A=Y | 3

How did the East India Company ruin the Indian Cotton textile industry? Explain.

3121471 / OR

3iENfiTes HIfT @ Fvid 8Y SIIShRI TR Udh oig faIlay |

Write an article on the inventions under the Industrial Revolution.

15. MO H I 5Tl FUBY & TRIDb] DI GaT § IR DITT | (B15 Q1) 1%+1% = 3

Briefly explain the methods of rain water harvesting in Rajasthan. (Any two)

319791 / OR
frifdha @ T By |
(i) STt Sfred fAeE (i) 919 fgu Riarg gormed
Explain the following-
(i) Jal Jeevan mission (ii) Bamboo Drip Irrigation
16. RA H A FaRAT B FHIAT DY | 3
Review the federal system in India".
3121dT /' OR

AYare a7 87 Wudie &l HedgYl (RNl &l garsy |

What is federalism? Explain the important features of federalism .

17. 97 fafw @1 ve Hiegd € 98 axg falFaa & <19 BT gR PRl € |
ARYT BIfTY | 3

Money is a medium of exchange. It removes the defects of barter- Explain.

379141 / OR
T & 3NTTTRS AT SHIUANNG Fidi bI fad==T HIfT |

Discuss formal or Informal sources of Credit.
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SECTION-D

MEeTdHd 93 — (STR AT S THIT 250 9161)

Essay Type Questions - (Answer limit about 250 words)

18. G 31T 3ot b faRdR I guiF BT | 4
Describe the civil disobedience movement in detail.

379141 / OR

HRA H TG ST & HRON R UTdh o oIy |

Write a essay on the reasons for the growth Of Nationalism in India.

19. IS H SIS el &I [T el &1 e S | 4

Explain the various roles of political parties in a democracy.

J727dT / OR

ST ol & B B AT P |

Explain the functions of political parties.

20. 729 & SR I T 9 § ORim — 114141 = 4

Write the answer in the given map -

f=ferRad dot &l &1 IRT & @1 AR § Sifdhd HIfo |

Mark the following oil fields on the outline Map of India

(31) FHIS BTS (Mumbai High)  (d) 3idet¥eR (Ankaleshwar)
(%) f$74TS (Digbol) (T) S (Bassien)
3121471 / OR

f=forRad g R fATdd Ol & YRT & &7 A § Iifbd HIfY |

Mark the following iron ore exporting ports on the outline map of india.
(31) HATARTIR (Marmagao) () H"Iﬂfé (Mangaluru)
SR NELR (Paradwip) (H)ﬁ@'@w (Vishakhapatnam)
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